X277 7"7 '0W0 2,7 YR L1702

— WMWY TR 7ATT RO
Where she gave it to him and betrothed him

OVERVIEW

The X773 states that if the 7710 would have written only 217 X%, we would
have thought that in a case where she gave the w1 7°p 703 to him and she
pronounced her intention of marrying him, that it would be a valid Pw17p,
therefore the 771N writes 1 3 to teach us that it is the man who performs
the 1w TP process and not the woman. MdOIN explores what we initially
would have thought if not for the rp> »3.

— 15 YNPNR ANNR 29N NININY DIVNDA Y%
>'"w9 explained the meaning of "\nw7RY, that she says to the man ‘you are
wTIPn to me.’

MooIn asks:
— Zﬂ’\’)) INYY 723 YON) PPNV YWD 11\’)3 9993 99N YWINA MNY DYDY

And this interpretation is difficult; for when a woman is marrying a man
the term 2Y7P? does not apply to the man, for he is not forbidden to
other woman through this marriage.’

mooIn offers his explanation of \nw7pY:
— 19 HYUNHPN MIN 2N NIMINY WY YN

And the word 1nw7°21 can be explained to mean that she says I am nwTp»
to you.4

mooIn now discusses the first part of the phrase:
- 51’\’)1‘1‘.711 DaPN NYAN YINY RPITIND NY11H NANT 9D 7298

And it is necessary to say that the phrase ‘that she gave the P17 705 to

him’, is not precise, for her father accepts the 2175 money -
SN 9217 NN NON

!X 772 *"21 actually states °2 wWIpNA (772 7IRKT).

2 The X previously on 2,2 states concerning the (33277) W% of P 1p that wipns ¥™"OR 7% q0KT (which
applies only to the woman but not to the man). See also there 70KX7 i7"7 N1DOIN.

? A man may marry more than one wife.

* See “Thinking it over’ # 2.

> The X3 is now discussing if the 7m0 would only write [103 1°X] 2in 8% From i 7X¥" we know that
the 1w 7P 703 belongs to the father. How can we entertain that she gives the 1w17°p 702 to the husband.
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But rather by the phrase 7°7°7% 727°7, the X3 means to say, ‘and she said®
(I am nwpn to you)'.”

SUMMARY

If not for r1p> > we would have thought if the woman said to the man ‘I am
nwTpn to you' (and the father received the money) she would be nwTpn.
However there never was a thought that she should be nwmpn if she said,
‘you are wTpn to me’, for the one who is being w7Pn 1s MOXR for everyone
else, and this applies only to the woman.

THINKING IT OVER
1. According to this X", who is giving the money; is it the man or the
woman?

2. How does mo01n understand the word \nw7»1?

® The words 77> 7277 do not refer to money, but rather to her statement; she gave (said to) him the
statement of PwITP (by her saying 77 nwTpn %X 7).

7 According to mpoIn that \nwTpY T2 727 means that she only said 72 nwTpn *Ix ™7 but did not give
any money to her husband, this strengthens npoIwn interpretation that she is not saying °% wTpn IR °17
[indicating that she is acquiring him], for she is only a 13 not a 111 since she is not giving anything to the
man; on the contrary he is giving (to her father).
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